Sig Figs





Name:  





CHM 1045
1.  How many sig figs?
a. 100.25




b. 325.08






c. 4500




d. 1.56 x 10-3



e. 0.200




f. 89.56




g. 600.52




h. 2.24 x108



i. 7802.06



j. 1500.00



2. Round to specified # sig figs

a. 100.25 (3 sig figs)




b. 325.085 (4 sig figs)




c.  325.085 (5 sig figs)




d. 0.05684 (3 sig figs)




e. 0.1486 (3 sig figs)




f. 3498.2 (4 sig figs)




g. 4683.8 (3 sig figs)




h. 0.10056345 (5 sig figs)



i. 8.957 x 106 (3 sig figs)



j. 4.235 (3 sig figs)




3. Do the following mathematical operations and then round to the correct number of sig figs

a. 32.75 + 0.49 = 




b. 32.75 x 0.49 =





c. 100.819 – 10.67 =




d. 100.819 / 10.67 =




e. (0.482 x 3.78) / 7.483 = 



f. (13.28 + 3.679) x 6.32 = 



g. (80.6 – 1.4873) / 32 =  



